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10.

11.

12.

13.

14.

15.

16.

17.

18.

dz(x —3) +5(x — 3)

6t2 — 11t + 4

22 — 9z — 36

272% — 64

2t — 8

9x2 — 42x + 49

1022 + 252 + 4zy + 10y

8x3 +1

10x(a +b) — 2y(a +b)

4a® — 36b2

22 + 1dx + 24

8x2 — 14z +5

23y — 8x2%y — 10zy

1822 4 152 — 18

a® + 8b?

3a® — 27b%

xt— 2?2 =72

a®b? — 40203 + 4ab?*

FACTOR COMPLETELY

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

522yz — 10xy?z — 15xy2?

3z(2a + b) — 5y(2a + b)

25 —

3 +

1’27

1’2—

522 — 11z 4+ 2

x? — 16z — 36

2

8

5x + 6

52 — 6

—22 -2 +20

xt +

23 +322 -2 -3

1623 — 54
1222 — 7Tz — 12
x* — 1322 + 36

128213 — 322292 + 223y

52 + 4
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10.

11.

12.

13.

14.

15.

16.

17.

18.

Answers to FACTOR COMPLETELY Exercises

(4x +5)(x — 3)

(3t —4)(2t — 1)

(z —12)(z + 3)

(3z — 4)(92% + 122 + 16)

2(x? 4+ 2)(2% - 2)

(3 — 7)2

(2z 4+ 5)(5z + 2y)

(22 +1)(42* — 2z + 1)

2(a+b)(bx — )

4(a + 3b)(a — 3b)

(x+2)(z+12)

(4x —5)(2z — 1)

2zy(xz —5)(x + 1)

32z +3)(3z — 2)

(a + 2b)(a® — 2ab + 4b?)

3(a + 3b)(a — 3b)

(x4 3)(z — 3)(z2 +8)

ab?(a — 2b)?

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

5eyz(zr — 2y — 32)

(32 — 5y)(2a + b)

5+2)(5— )

(z +2)(2? — 22 + 4)
(z=3)(x—2)

(z+1)(z — 6)

(z — 2)(5z — 1)

(z +2)(z — 18)
—(x+5)(x—4)

(22 +4)(2% + 1)
(z+3)(z+ 1)(z — 1)

2(2z — 3)(42% + 62 + 9)

4z +3)(3z — 4)
(z+3)(z—3)(z+2)(z —2)
22y(8y — )°

@'+ 1)@+ D@+ 1)z —1)
(z—1)(2? +z+1)(2 +23+1)

(x —2)(z? + 22+ 4) (23 + 2)
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